Ia ACADEMY

Exercise set (0.2)

Exercise set 0.2:
27,28,29(a, b, c,f),30 (b, c, g), 31,32, 34,35,41,42,43,44,59(a, b, e,
f) p.25-26.




27-28 Find formulas for f + g, f — g, fg,and f/g, and state
the domains of the functions.

27. f(x)=2vx—1, glx) =4/x—1
_ (D)= 20X 4 IXCT = 3K

Domain:
X_|>o0

X =]
Dg,g=L1,+00)

=D 20X X = XL
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X_|I>o0

X =

D¥~9=[|,+00)

CHDX) 2 XTI ) 22K 1) 2 2% 2

Domain:

D43=[|,+<>0)



(F/ DX 20X 1 2

Domain:

K_|I>o

K >

Desa=L l,+00)n (|,+00) = (|,+00)




28. f(x) = —
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ILE S MO D S
|+ X X

XU X)) - 2X 4
XA +X) X 4 %)
Domain:
D_“_:(_OOJ-FOO)

D9= (—0,0)u 0, +00)

D_F_'_g:(_oor“ °°) Q (_ °°J0)U (OJ '\'00)

:(_MJO)U(0J+M)

-9 X ]
|+ X X
X —UaX)
K+ XF) X+ X*)
Domain:
D_‘-_:(—‘X’)+oo)

D‘J: (—00,0)u 0, +00)

D_F_gz(—“’,-l— 00) A (= ,0)u 0, +0)

z(—w;o)U(0J+oo)



DX XL
| + X X | + X

DOTY\.CL'm,:

D_[_:(_"o)-!- oo)
Dgz (—M)O)U (OJ -\-oo)

D_F.gz(—w;-l— oo) (\(—Oo;o)uko,-\-oo)

:(—M)O)UQOJHO)

(/DX X /\
| + X/ X
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Dg: (—00,0)u 0, +00)

Dy g = (=0, o) 4 (= :0) U (o, +eo)

_—_(—°°)0)U(0J+oo)




29. Let f(x) = /x and g(x) = x* + 1. Find
(@) f(g(2)
£(90)= £ OG- 1) 2

O V2T VR4 Vo 3

(b) g(f(4))
IExN)=9 X)X ),

TC YO70) I VAP N -

(c) f(f(16))
FEOO= FX) /X

f0e-Yig _o

(f) gB3+h).

J(3+h)= (3+h)+ |



30. Let g(x) = +/x. Find
(b) g(y/x+2)
QWX L 21X +2

(c) 3g(5x)

39X =3 VEX

(g) g(1//x)

QU /I )= [ = ]

\/YWW



31-34 Find formulas for fog and go f, and state the domains
of the compositions.

31. f(x) =x%, g(x) =+1—x
HEYICINEICIC I

(T
—1_X
_D1c9= DgnDR
Dgz X0 X< (—o0l]

Dppg = (o017 (1 (—o0uea) — (o0l

_(Yof) (1= 9 (Fex)) = 9(x)

— JI_X
_D9°¥= D, nDg
D = (0054 00)
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32. f(x) =+/x—3, g(x) =+/x%24+3
o)) £ £ (m3) s

D¥9=DgnD

Dg = (=o2su00)
Dg=/x%3z _3 >0 __ ,Ix53 23
(X53) 2(3) X +3 29
X 26 _IX*2/c
X1 2V6 . X2/6 or XL _J6
DR=(_M,_/Z—__\UE/Z_,+0<>)
D1cog (005100 (_oo, V6 JulV6 , +00)

— (Lo, V6 Tul/E , +00)

CGof) (X2 IEF) = IVX 3 )W 3

_VX_3,3 =VyX
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gog = “F "'FR
De=X_3>20__ K > 3_[3,+e)
Do =X 29 _Lo,+e)

— [ 3,+e0) Nl o, ,+0) [ 3,+00)
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3. ) = T g = o
_Hod)(x)= F(JO0) £/ X)L/ X
L (1/X0)
/XL 1/X
'+ /X X{J
X
X+ | X
—D;°9=D30DR

Dg: R_{os = \—e0, °)u(o;+t>o)
DR= R =(-°<)J+‘>°)

D-Fog =R _{oy = \—co, 0) U (o,+°¢)

- of) 0= 9 (Foa)= 9( X )

_ \ _ 1+ X
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35-40 Express f as a composition of two functions; that is,
find g and & such that f = goh. [Note: Each exercise has more
than one solution.]

35. (@) f(x)=~/x+2
JX)=V X

h(X)=X+2
Joh -F(ho)) =X +2)_V X+ 2

(b) f(x) = |x? = 3x +5|
IX)= | X|
h(X)=X"_3%X,5

Joh ~9(hon) 29X 3%, 5) 21X _3X,. 51



41-44 True-False Determine whether the statement is true or
false. Explain your answer.

41. The domain of f + g is the intersection of the domains of
f and g. ( )

42. The domain of f o g consists of all values of x in the domain
of g for which g(x) #0. ( )

domain of fo9 Consist of all X in the domain of 9

for Which 9(X) inthe doman of f

43. The graph of an even function is symmetric about the y-axis.( T )

44. The graph of y = f(x + 2) 4 3 is obtained by translating
the graph of y = f(x) right 2 units and up 3 units. ( |_—_ )

bY translating the IPh left 2 units and

WP 3 units



59. In each part, classify the function as even, odd, or neither.

(a) f(x)=x"

F=X) = (—X)z =X7_ —f(X)__,evenfunckion
(b) f(xr) =’

FX) 2 X — % L (X)L noteven

FX) = _F(X) __,odd funckion

5

@ [0) =17
5 5
F(—X)z(—X)—(—X?_) - =X +2<
L+ (=X) |+ X
X=X
s

- _f(X) _ ., odd funckion

(f) f(x)=2

FX) 22 —F(OX)__even function



